
Caribbean History
May —June 2011

Question 3
Theme 2: Caribbean Economy and Slavery

(a) (I) Identify TWO Caribbean territories which produced tobacco and TWO Caribbean
territories which produced logwood in the 1600s,

(4 marks)

(b) (ii) Explain THREE reasons for the changeover from the production of tobacco to sugar
in the 1600s

(9 marks)

(c) (iii) Examine THREE economic effects of the changeover from tobacco to sugar.
(12 marks)
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Corn ni e nts

This question tested the candidates’ knowledge of the changeover to surar production in the I 600s and the
economiC effects of the changeover.

Statement on overall quality

The qualit3 of this answer was ver good so a mark at the upper end of the mark range was awarded.

Knowledge and Comprehension

In all three Sections this candidate displayed a good range of knowledge and understanding of the question.
There was also a good explanation of the reasons for the change over from tobacco to sugar and a sufficient
explanation of the economic effects of the changeover to warrant a top mark,

Use of Knowledge

In sections [bj and [ci the candidate dealt with core issues and the interpretation was very good. The
candidate was particularly strong in the depth of analysis and again earned a mark at the upper end of the
mark range,

Enquiry and Communication

The candidate made good use of the information required to properly structure the response. At least three
effects of the economic transformation were well developed with supporting details. A mark at the upper end
of the scale as awarded. The information in the candidate’s answer was presented correctly and clearly
communicated. Spelling punctuation and grammar were in most cases acceptable. This response met the
requirement for a mark at the upper end of the scale,


